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ENGLISH

Directions: From each set of sentences given below in question 1 to 10, choose the
sentence that is grammatically correct.
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Afew judges have cut short their vacation to clear a long pending cases.
Afew judges have cut short vacation to clear the long pending cases.
Afewjudges has cut short its vacation to clear the long pending cases.
Afew judges have cut short their vacation to clear the long pending cases.

Where‘s Hari? Here is he, right in front of us!
Where‘s Hari? Here heis, rightinfront of us!
Wheres* Hari? Heis here, rightinfront of us!
Where*s Hari? Is he here, rightinfront of us!

Customs officer‘s do not allow passenger to carry banned items into or out of the country.
Customsofficersdoes notallow passengerstocarrybanneditemsintooroutofcountry.
Customsofficersdonotallows passengerstocarry banneditemsintoorout of country.

Customs officers do not allow passengers to carry banned items into or out of the country.

Neither this nor that machine is working.
Neither this nor that machine are working.
Neither this and that machine is working.
Neither this but that machine is working.

I shall be doing a MBA online, and continue with my present job.
I shall do a MBA online, and continue with my present job.

I shall do an MBA online, and continue with my present job.

I shall do an MBA online, but continuing with my present job.

As soon as | boarded the train, I realized that I left my wallet at home.
Assoonas|boardedthetrain, Irealizethathadleftwalletathome.
Assoonas|boardthetrain, Irealizedthatlleavemywalletathome.
Assoonas | boarded the train, | realized that | had left my wallet at home.



10.

11.

12.

(A)
(A)
(A)

(A)
(B)
©
®)

We can take either the morning flight nor the one in the afternoon.
We can take neither the morning flight or the one in the afternoon.
We can take either morning flight or the one in afternoon.

We cantake either the morning flight or the one in the afternoon.

The management have promised that it will consider my appeal.
The management has promised that it will consider my appeal.
The management has promise that they will consider my appeal.
The management has promised that it will considered my appeal.

Tourists must follow the norms set upon the country they visit.
Tourists must follow norms set by country they visit.

Tourists must follow the norms set by the country they visit.
Tourists must follow the norms set by the country they visits.

Animportantfile, alongwithtwouniforms, are missing fromthe police station.
Aimportant file, along with two uniforms, is missed fromthe police station.
Animportantfiles, alongwithtwo uniforms, are missing fromthe police station.
Animportant file, alongwith two uniforms, is missing fromthe police station.

FOR QUESTIONS 11 TO 15 (SEQUENCING OF SENTENCES)

Directions: In each of the questions given below in questions 11 to

15,

each

sentence is labelled with a letter. From the given choices, choose the most logical
order of sentences that constructs a coherent paragraph.

2 o T o

(A)

2 o T o

(A)
(©)

Oneofthemcopiedandpastedlargeportions of therequiredtextfromawebsite.
Before assigning the project to his students, the guide gave a presentation on plagiarism.
The expulsion order that followed was not alarming.
Afewstudents did not pay much heed to the consequences of theillegal act.
cabd (B) dbca
badc (D) bdac

Goals are set, and relevant data is collected and analyzed.
Strategies are made onthe basis of the data and resources made available.
There are various stages in framing a management- strategy, and its implementation.
The strategies are implemented and monitored to ensure that the goals are achieved.
abdc (B) achd
cabd (D) cbad



13.

2 o T o

(A)
(©)

14, a.

15, a.

Directions: Choose the correct meaning for each of the foreign language words and

Despite the awareness, some citizens fail to pay their taxes honestly.
One of the factors that impacts our country‘s economy is income- tax.
Awareness regarding this aspect of our economy is often made through the education system and media.

Most of these defaulters not only get into trouble, but they also create additional work for the income-tax
department.

adbc (B) cbad
bcad (D) bdac

The responsible citizen helped to foil the plan of a hijack.

The deep pockets of his leather jacket contained what had been feared!

A person called up the airport and gave a message.
Allthepassengerswerecarefullyfrisked,and oneofthemwasaskedtostepaside.
badc (B) cdba

dacb (D) cdab

Inthe following years, more layers of snow add up to the existing mass.
Consequently, the weight of the snow compresses and turns into solid ice.
Most glaciers are found near the Poles.

They begin to formwhen snow remains inthe same area all year round.
achd (B) cdba

abdc (D) cdab

phrases given below in questions 16 to 20.

16.  inter vivos

(A)
(B)
©
®)

a transaction made for obtaining a legacy

an agreement to promote the welfare of one‘s country
a transaction made between living people

an agreement between warring nations

17.  quantum ramifactus

A)
(B)
©
®)

UG 2019

the amount of damages suffered

the quality of goodssupplied

the amount of relief given for damages caused
the weightage given to someone‘s suggestion



18.

19.

20.

21

22.

23.

24,

25.

malus

(A) mass (B) harmless
(C) harmful (D) comforting
Volvo

(A) lroll (B) Irun

(C) lleap (D) 1jump
Charade

(A) series (B) charter

(C) pretense (D) spate

Directions: Choose the correctly spelled words in questions 21 to 25 to fill in the

blanks.

Malti Ahuja is making a sincere effort to pay off her
(A) crediter (B) creditar
(C) credittor (D) creditor

Itis our responsibility to leave a green and clean world for our

(A)  descendents (B) decendants

(C) descendants (D) descendantes

The patient‘s death was the result of sheer —————————onthe part of the surgeon.
(A) negligience (B) negligence

(C) negligennce (D) neglegence

The scientist‘s biography is a blatant ———— of facts.

(A)  misrepresentation (B) misreprezentation

(C)  misrepresentetion (D) misreprisentation

It was a—— to work with these scientists.

(A) previlege (B) priviledge

(C) privilige (D) privilege



26.

27.

28.

29.

30.

Directions for Questions 26 to 30: Fill in the blank with the correct options.

Son,———I'Research the company before you apply for the job.

(A) build castles intheair (B) hit theceiling

(C) getoffonthewrongfoot (D) hold your horses

Please, ———— I This is not the time to get anxious.

(A) pullyourselftogether (B) pass thebuck

(C) bark up the wrongtree (D) go on a wild goose chase

In our company, we don‘taccept such carelessly done work.
(A)  So far sogood.

(B)  Get your acttogether.
(C)  Wellcross the bridge when we come to it.
(D)  Your guess is as good as mine.

I can‘t work on this assignment anymore! I think | have ——.

(A) broken theice (B) added insult to injury

(C) chewedcud (D) bitten off more than | can chew
I‘'ma historian. I'ma ———— in this seminar on robots!

(A) drop inthebucket (B) fish out of water

(C) fly intheointment (D) fly on the wall

Directions for Questions 31 to 40: The questions in this section are based on what
is stated or implied in the passage given below. For each question, choose the
option that most accurately and completely answers the question.

The words invention and Innovation are closely linked, but they are not interchangeable. The inventor is a genius
who uses his intellect, imagination, time and resources to create something that does not exist. But this
invention may or may not be of utility tothe masses. It is the enterprising innovator who uses various resources,
skills and time to make the inventionavailablefor use. The innovator mightusethe inventionasitis, modifyitor
even blend two or more inventions to make one marketable product. A great example is that of the iPhone which is a
combination of various inventions.

If an invention is the result of countless trials and errors, so can be the case with an innovation. Not every
attempt to make an invention is successful. Not every innovation sees the light of the day. Benjamin Franklin had
the belief that success doesn‘t come without challenge, mistake, and in a few cases failure.
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31

32.

33.

One of the world‘s most famous innovators, Steve Jobs says, —Sometimes whenyou innovate, you make mistakes. It
isbesttoadmitthemquickly and getonwithimprovingyour other innovations.|

Thus, inventors and innovators have to be intrepid enough to take risks; consider failures as stepping stones and not
stumbling blocks.

Some inventions are the result of a keen observation or a simple discovery. The inventor of Velcro, also called the
zipless zipper, is the Swiss engineer George de Mestral. He was hiking in the woods when he found burrs clinging to
his clothes and his dog*s fur. Back at home, he studied the burrs. He discovered that each burr was a collection of tiny
hooks which made it clingontoanother object. Afewyearslater, he madeand patentedthestripsoffabricthat came
to us asVelcro.

The world of inventions and innovations is a competitive one. But the race does not end here; it is also prevalent in
the case of getting intellectual property rights. There have been inventors who failed to get a single patent
while there have been some who managed to amass numerous patents in their lifetime. Thomas Edison had 1,093
patents to his credit!

We relate the telephone with Alexander Graham Bell. It is believed that around the same time, Antonio Meucci
had also designed the telephone, but due to lack of resources and various hardships, hecouldnotproceedwiththe
patent of his invention. Itisalso believed that Elisha Gray had made a design for the telephone and applied for the
patentatthe U.S. patent office on the same day as Graham Bell did. By sheer chance, Graham's lawyer‘s turn tofile
the papers came first. Hence, Grahamwas granted the first patent for the telephone.

It is not easy, and at times almost impossible, for an inventor to be an innovator too. There are very few like
Thomas Edison who graduated from being an incredible inventor to a successful manufacturer and
businessman with brilliant marketing skills.

While innovations that have helped to enhance the quality of life are laudable, equally laudable are the
inventions that laid the foundation of these very innovations.

The text in the passage can be best termed as
(A) narrative (B) descriptive
(C) persuasive (D) expository

The main idea of the author is to

(A)  highlight the difficulties faced by innovators.
(B)  focus on the hardships of patent -seekers.

(C)  compare innovators toinventors.
(D)

D) reveal the importance ofinventors.

The author believesthat

(A)  innovators enhance the utility of inventions.

(B)  innovators face fewer challenges than inventors do.
(C)  everyinventor has a patent for the invention.
(D)

D invention is the same as innovation.



34, Benjamin Franklin and Steve Jobs, believe that
(A)  thereisno place for mistakes inthe process of making aninnovation.
(B)  making a mistake before finding success is not unusual.
(C) failureis a permanent stumbling block.
(D)  allinnovators have to go through failure.

35.  Velcro can be best described as
(A)  ahighly-planned and deeply researched invention
(B)  the fruit of failure
(C)  the need of thehour
(D)  anaccidental invention
36.  ItisbelievedthatGrahamBellbecamethefirstpatentholderofthetelephonebecauseof
(A)  his ingenuity and goodfortune.
(B)
(C)  theclever trick played by his lawyer.
(D)  the biased officials in the patent office.

the carelessness of Elisha‘slawyer.

37.  Which of the following is Untrue?
(A)  Inventors may not beinnovators.
(B)  Innovators are not expected to be enterprising.
(C)  Togeta patent, the applicant has to follow a legal process.
(D) Intellectual property rights are not always easy to get.

38.  Which of the following texts from the passage clearly indicates failure?

(A)  Theworld of inventions and innovations is a competitive one.

(B)  Not every innovation sees the light of the day.
(C)  Thus, inventors and innovators have to be intrepid enough to take risks;
(D)

D None of theabove

39.  Which of these words can replace the word intrepid?
(A) hasty (B) intellectual
(C) daring (D) rich

40.  Which of these words is the antonym of laudable?

(A) praiseworthy (B) challenging
(C) tiring (D) disgraceful
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41.

42.

43.

44,

45,

46.

47.

48.

GENERAL KNOWLEDGE AND CURRENT AFFAIRS

The Chief Central Information Commissioner at present is:
(A)  SudhirBhargava (B) R.K.Mathur
(C)  Sridhar Acharyulu (D) Handu

IndiahasrecentlysetupthelatestISRO‘sSatellite TrackingandDataReceptionCentrein:
(A) Maldives (B) SrilLanka
(C) Bhutan (D) Nepal

The number of complaints with the Banking Ombudsman registered during 2018 increased by:
(A) 10% (B) 15%
(C) 20% (D) 25%

Which of the following formally quit from UNESCO recently?
(A) USA (B) China
(C) Sweden (D) India

The maximum punishment for a cyber-stalker imposed by an anti-terrorism court in Pakistan is:

(A) byears (B) 14 years
(C) 10years (D) 24 years

Ina major relief to micro, small and medium enterprises, the GST Council has recently increased the tax

exemption limit per annum to:
(A) 20lakhs (B) 30lakhs
(C) 40lakhs (D) 60lakhs

Whichofthefollowingfruits gotthe Geographical Indicationduring October 2018?
(A) ShahiLitchi (B) Laxman BhogMango
(C) SirumalaiHillBanana (D) Mahabaleshwar Strawberry

Therichest personintheworld as per the details revealed in March 2019 is:
(A) BillGates (B) Jeff Bezos
(C) AmancioOrtega (D) Bernard Arnault



49.

50.

ol.

52.

53.

54,

55.

56.

ThenumberofEB—5visaapplications,alsoknownas_cashfor GreenCard‘ visatotheU.S has increased in the
last two years by about:

(A)  100% (B)  200%
(C) 300% (D)  400%

India purchased surveillance aircrafts (AWACS) during 2016 from:

(A) USA (B) France

(C) Russia (D) lsrael

The fastest trainin India is:

(A) Gatiman Express (B) Shatabdi Express
© Vande Bharat Express (D) Rajdhani Express

The first humanoid police robot was introduced in the State of:
(A)  Karnataka (B) Delhi
(C) Gujarat (D) Kerala

Theworld‘s first Dieselto Electriclocomotive twinengine of 10,000 horse power was flagged off in:
(A)  USA. (B) China
(C) India (D) South Korea

The Headquarters of International Solar Alliance consisting of more than 121 countriesis located in:
(A) India (B) South Africa
(C) Malaysia (D) China

The prestigious Seoul Peace Prize for 2018 was conferred on:
(A)  Kofi Annan (B) Angela Merkel
(C) NarendraModi (D) Putin

Which of the following countries during 2019 provided life time personal tax exemption to women with four
children?

(A) India (B) Hungary
(C) Norway (D) Finland
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58.

59.

60.

61.

62.

63.

64.

65.

Inthe 64™ Film Fare Award, who won the best actress award?
(A)  KatrinaKapoor (B) Priyanka Chopra
(C) DeepikaPadukone (D) AliaBhatt

Recently, the Government of India relaxed the Angel Tax Norms for Start-ups and enhanced the investment limitto:

(A) Rs.25Crore (B) Rs.20Crore
(C) Rs.15Crore (D) Rs.30Crore

India‘s first Chairperson of Lokpal is:
(A) Justice Dipak Mishra (B)  Justice Dilip Bhosale
(C) Justice P.C.Ghose (D)  Justice Thakur

In how many phases the 17t Lok Sabha elections were held in 2019?
(A)  Six (B) Seven
(C) Five (D) Eight

How many States went to polls along with the 2019 Lok Sabha elections?
(A)  Three (B) Four
(C) Five (D) Two

The National CommonMobility Card (NCMC), launched by the Central Governmentrecently is also dubbed as:
(A)  OneNationOneCard (B) Citizenship Card
(C) AadharCard (D) Shopping Card

WhichofthefollowingcitiesbaggedtheCleanest City Awardforthreeconsecutiveyears?
(A)  Mysore (B) Ahmedabad
(C) Chandigarh (D) Indore

Who is known as the _Father of Local Government in India‘“?
(A)  LordCurzon (B) Lord Mayo
(C) LordWellesley (D) Lord Ripon

Under which of the following missions, India has successfully tested its first-ever Anti-Satellite (A-SAT)
Missilecapability?

(A)  MissionShakti (B) Mission Agni
(C) MissionRaftar (D) Mission Sahas



66.

67.

68.

69.

70.

71,

2.

73.

WhichlIndianpersonalityistherecipientoftheOxford University'sBodleyMedal2019?
(A)  RaghuramRajan (B) Amartya Sen
(C) Manmohan Singh (D)  Shashi Tharoor

What is the name of the book containing English translation of the 100 year old classic Punjabi poem about
Jallianwala Bagh massacre?

(A)  DrummerHodge (B) PoemsoftheJallianwalaBaghmassacre
(C) Poemsaboutwar (D) Khooni Vaisakhi

Which country has released a special stamp on Hindu epic Ramayana to commemorate the 70t anniversary of the
diplomatic ties with India?

(A)  Indonesia (B) Bangladesh
(C) SriLanka (D) India

Which day is observed as International Mother Earth Day?
(A)  April20 (B) April21
(C) April23 (D) April22

Which state‘s Kandhamal Haldi (turmeric) received Geographical Indications (Gl) tag recently?
(A)  Odisha (B) Karnataka
(C) Kerala (D) Tamil Nadu

Which country‘s Navy department has signed first reliable communication link with the Indian Navy and
Pacific Naval Commands under the COMCASA pact?

(A)  SriLanka (B) Japan
(C) Russia (D) US

Name the script writer, whowonthe Deenanath Mangeshkar Lifetime Award 2019 recently.
(A)  Javed Akhtar (B) Vishal Bhardwaj
(C) AnuragKashyap (D) SalimKhan

Which space agency has recorded the first -marsquake,l quake on the mars due to volcanic eruptions or landtides?
(A)  JAXA (Japan Aerospace Exploration Agency)

(B)  NASA (National Aeronautics and Space Administration)

(C)  ISRO (Indian Space Research Organisation)

(D)  Chines Space Agency
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74,

75.

76.

7.

78.

79.

80.

81.

Name the third edition of bilateral maritime exercise between Australia and India that was held in Visakhapatnam.

(A)  VajraPrahar (B) CobraGold

(C) Ausindex19 (D) Ausind 19
Holkhomang Haokip, who passed away recently, wasa ?
(A)  Writer (B) Producer

(C) Football player (D) Politician

Name the Howitzers guns inducted into Indian Army recently.
(A)  Dhanush (B) Panter
(C) M102howitzer (D) BL 9.2-inch howitzer

Who was the first Indian President to visit Croatia?
(A)  AbdulKalam (B) Pratibha Patil
(C) Pranab Mukherjee (D) Ram Nath Kovind

Which Island was natified as Island Protection Zone (IPZ) 2019 by Union Ministry of Environment, Forest
and Climate Change recently?

(A)  Andaman andNicobar Island (B) Kurumgad Island
(C) Khanderilsland (D) Worlilsland

Name the organization, which released the report on food crises titled Global Report on Food Crises® annually.
(A) International Food Policy Research Institute (IFPRI)

(B)  Foodand Agriculture Organization (FAO)

(C)  Food Corporation of India(FCI)
(D)

D) Food Security Information Network (FSIN)

Which is the happiest country as per the 2019 World Happiness Index?
(A)  Finland (B) Denmark
(C) Norway (D) Sweden

The Headquarters of Asian Development Bank is situated in
(A)  Manila, Philippines (B) Jakarta, Indonesia
(C) Colombo, Sri Lanka (D) Honoi, Vietnam



82.

83.

84.

85.

86.

87.

88.

89.

90.

The Golden Peacock’ Award is given for excellence in
(A)  CorporateSocialResponsibility (B) Energy Savings
(C) Literature (D) Corporate Governance

Whichplanetisknownas RedPlanet?
(A) Venus (B)  Mercury
(C) Mars (D)  Neptune

What is Psephology?

(A)  Statistical study of elections, voting, etc.
(B)  Study of rainfall pattern

(C)  Study of genedisorder

(D)  Study of femaleprisoners

The Global Teacher Award, 2019 was awarded to a teacher in:

(A)  SouthKorea (B) Japan
(C) Canada (D) Kenya

Whichstatein Indiaisthefirst State toachieve 100 percent sanitation coverage?
(A)  AndhraPradesh (B) Karnataka
(C) Sikkim (D) Manipur

The book titled God Save the Honourable Supreme Court‘ was authored by:
(A)  SoliSorabjee (B) Fali S. Nariman
(C) K.K.Venugopal (D) Justice Katju

The book titled _Anita Gets Bail‘ was authored by:
(A)  AmitabGhosh (B) KiranBedi
(C) IndiraJaisingh (D)  Arun Shourie

The first Indian Athlete to qualify for Olympics 2020 is:
(A)  K.T.Irfan (B) Jinson Johnson
(C) TintuLukka (D) Sunita Rani

The South Asian nation that has won the SAFF Women‘s Championship for fivetimes successively is:
(A)  Nepal (B) India
(C) SrilLanka (D) Bhutan
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91.

92.

93.

9.

95.

96.

97.

MATHEMATICS

The Municipality of a town increases water tax by 20% and water consumption decreased by 20%. Then the
percentage ofincrease or decreaseinthemonthly expenditureis:

(A)  4%increase (B)  4%decrease
(C) 5%increase (D) 5%decrease

Achildwasbornon 13 January 1976 whichwasa Tuesday. What day of the week will be the child‘s birth day in
the year 19867

(A)  Sunday (B) Friday
(C) Saturday (D) Monday

The perimeter ofarectangle is 60 cms. Ifits length is twice its breadth, thenitsareais: (A) 200cm? (B)
180 cm?
(C) 160cm? (D) 220cm?

Atreegrows at the rate of 1/5™ of its height annually. By how much height will it growafter 2 years, if its present
height is 75 cms?

(A)  108cms (B) 90cms
(C) 144cms (D) 112cms

A train 600 meters long is running at a speed of 90 kms/hr. If it crosses a tunnel in one minute, then the length
of the tunnel is:

(A) 500 meters (B) 550 meters
(C) 600 meters (D) 900 meters

Abookseller soldabox of 10 pencils for Rs. 80and incurred a loss. Had he sold it for Rs. 98, his gain would have
been twice the loss he incurred earlier. The cost price of the box of pencils is:

(A) Rs.84 (B) Rs.86
(C) Rs.88 (D) Rs.90

In a 100 meters race, A beats B by 20 meters B beats C by 5 meters. In the same race, A beats Cby:
(A)  26meters (B) 25 meters
(C) 24meters (D) 22 meters



98.

99.

100.

101.

102.

103.

104.

Beena got married 8 years ago. Today, her age is 11/4 times her age at the time of marriage. If her daughter‘s age is
1/10times her age, then her daughter‘s age is:

(A)  3years (B) 4years
(C) bSyears (D) 2years

Aclock gains 2 minutes every hour. Then theangle traversed by the second hand in one minute is:
(A) 360° (B) 370°
(C) 390° (D) 372°

80% of students of a class took Statistics and 45% took Mathematics. If each student took Statistics or
Mathematicsand40tookboth, thetotalnumberofstudentsintheclasswas:

(A) 160 (B) 180
(C) 200 (D) 225

Kiran‘s brother is 5 years older to her. Her father was 30 years old when Kiran's sister was born, while her mother
was 28 yearsoldwhenKiranwasborn. IfKiran'ssister was2 years oldwhenher brother was born, whatwas theage
oftheirfatherwhenKiran'sbrotherwas born?

A 32 (B) 34
€ 37 (D) 30

If Second Saturday and Sunday of every month is a holiday, then the total humber of working days in a
month of 31 days beginning with a Wednesday will be

A 23 (B) 24
(C) 25 (D) 26

A mess contractor can either serve 450 students with the meal that he prepares or can cater to270 cops withthesame
meal. If 300students havealready eateninthe mess, howmany cops can be fed with the remaining meal?

(A) 20 (B) 45
(C) 90 (D) 180

Acardriver increases the average speed of his car by 3 km/hr every hour. The total distance travelled in 7 hours if the
distance covered in first hour was 30 km, is

(A)  266km (B) 273km
(C) 280km (D) 287km
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105.

106.

107.

108.

109.

110.

A grocer mixes coffee powder of 2 types, one of which is priced at Rs. 60 and the other at Rs. 90. What should be
the ratio of combining the two, to sell the blended mix coffee powder of the two types at Rs. 80?

A) 21 (B) 2:3
(C) 1:2 (D) 32

The smallest number that should be subtracted from 2085, so that the new number is completely divisible by
23is

A 9 (B) 15

(© 20 (D) 19

A tank is connected to three pipes — Pipe A, B and C. Pipe A can fill the tank in 6 hours, Bcanfillthetankin8
hours and Pipe C canempty the fulltank in 12 hours. How muchtime will it take to fill the tank completely if all
three pipes are working together?

(A)  4hours (B) 4hours48minutes
(C) 5hours (D) 5hours20minutes

Naresh boughtabicycle eachfor histwo sons, eachbicycle pricedat Rs. 3500. If the first bicycleissoldata profit
0f5%, thehowmuchshouldtheother bicyclebesoldfor, togaina total of 20% onboth?

(A 15% B) 10%
(C) 25% D)  35%

Anemployee of an organization invests a total of Rs 25,400 intwo different schemes X and Y ata simple interest rate
of 18% per annum and 10% per annum respectively. If atotal of Rs. 6460 has been earned as simple interest in
2 years, what amount was invested in Scheme Y?

(A) Rs.8,625 (B) Rs.16,775
(C) Rs.12,240 (D) Rs.10,930

The difference between Simple Interest and Compound Interest on Rs. 500 for 1 year at 10% per annum, reckoned
half yearly is

(A) Rs.1 (B) Rs.1.25
(C) Rs.15 (D) Rs.2



LEGAL APTITUDE

This section consists of fifty (50) questions. Each question consists of legal principle(s) (hereinafter referred to
as principle‘) and facts. Such proposition may or may not be true in the real and legal sense, yet you have to
conclusively assume them to be true for the purposes of this section. Principles have to be applied to the given
facts to arrive at the most reasonable conclusion. Only one of the alternatives, i.e., (A), (B), (C), or (D) is the
most reasonable conclusion. In other words, in answering the following questions, you must not rely on any
principleexcepttheprinciplesthataregivenhereinbelowfor everyquestion. Further you mustnotassume any facts
other than those stated in the question. The objective of this section is to test your ability in legal aptitude, study of
law, research aptitudeand problem solving ability evenifthe _most reasonable conclusion® arrived at may be absurd
or unacceptable for any otherreason.

111.  Principle: Acceptance of proposal must be the exact mirror image of the proposal.

Facts: _A" made a proposal to B to sell a chair for Rs. 500. _B* is desirous of buying the said chair for Rs.
400.

B has accepted the proposal of A.

(A)

(B) B has not accepted the proposal of A.

(C)  Itisnotclear if B has accepted the proposal of A.
(D)

Itis not clear whether A made a proposal to B.

112.  Principle: Anagreement with a boy below the age of eighteen years is not enforceable by law.
Facts: Amanenteredintoanagreement withagirl of seventeen years of age.
(A)  Theagreement is enforceable by law.

(B)  Theagreementisnotenforceablebylaw.
(C)  Theagreementisenforceablebythegirl.
(D)  No inference can bedrawn.

113.  Principle:Saleofliquorisillegal. Allagreementsrelatingtoprohibiteditemsdonotexistin the eyes of law.

Facts: _A‘entered into an agreement with _B* for the sale of liquor. _A* failed to supply the agreed
guantity of liquor to B.

B can bring a legal action against A.

(A)

(B)  Bcannot bring any legal action against A.
(C)  Acanbring a legal action against B.

(D)

Aand B can initiate appropriate legal proceeding against each other.
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115.

116.

117.

118.

Principle:Thecommunication of a proposal is complete when it comes to the knowledge of the person to whom
it is made.

Facts: _A‘sentaletter makingaproposalto_B*to purchasethe house of B.

(A)  Thecommunication of proposal is complete when A sent the letter.

(B)  Thecommunication of proposal is complete when B‘s wife received it.

(C)  Thecommunication of proposal is complete when B‘s wife handed over the letter to B.
(D)  Thecommunication of proposal is complete when B reads the letter.

Principle: An agreement may be entered into orally, in writing, or by conduct.

Facts: _A" went to the shop of B‘ and picked a tooth brush and gave a cheque of Rupees twenty to B and left
the shop.

A entered into an agreement with B.

A did not enter into an agreement with B.

Payment of tooth brush cannot be made through a cheque.

Ashould have carrieda currency note of Rupees twenty tomake the payment.

CRCRCEES

Principle:Property consists of right to posses, right to use, right to alienate and right to exclude others. Sale is
complete whenproperty getstransferred fromthesellerto the buyer.

Facts: _A‘soldhiscarto_B‘Brequested AtokeepthecarinhiscareonbehalfBforone month. A agreed.
(A)  Sale of car iscomplete.

(B)  Sale of car is not complete.

(C)  Salewill be completed when B keeps the car in his own care.

(D)  Salewill beautomatically completed after the expiry of one month.

Principle: A person, who is usually mad, but occasionally not mad, may make a contract when he is notmad.

Facts: _A‘ generally remains in the state of madness and rarely becomes capable of understanding
anything.

(A) A can make acontract.

(B)  Acan never make a contract.

(C)  Acanmake a contractat any time whenever he pleases.

(D)  Acan make a contract only for his own benefit.

Principle: Anagreement without free consent can be enforced only atthe option of the party whose consent was
notfree.

Facts: }A_obgains the consent of B to enter into an agreement by putting a gun on the head of B°s girl

riend.

B can enforce theagreement.

B cannot enforce the agreement.

A can enforce theagreement.

Neither A nor B can enforce the agreement.

CRCRCESS



119.

120.

121.

122.

Principle:Where one of the parties to a contract was in position to dominate the decision of the other party, the
contractis enforceable only at the option of the party whowas in a position to dominate decision of the
other party.

Facts: A doctor asked his patient to make a payment of Rs. 10,00,000/- (Ten Lac Only) for treatment of his
fever. The patient paid an amount of Rs. 5,00,000/- (Five Lac Only) and promised to pay the
remaining amount after the treatment. After treatment the patient recovered from fever. The doctor
demanded the remaining amount from the patient. The patient refused to pay.

The contract is enforceable against the doctor.
The contract is enforceable against the patient.
The contract is notenforceable.

The contract is not enforceable against the patient.

CRGRCESS

Principle:When, at the desire one person, any other person has done or abstained from doing something, such
act or abstinence or promise is called a consideration for the promise.

Facts: X, the uncle of Y, made a promise to pay him an amount of Rs. 1,00,000/- as reward if Y quits
smoking and drinking within one year. Y quit smoking and drinking within six months.

(A)  Considerationhasmovedfromthesideof X.

(B)  Considerationhas moved fromtheside of Y.

(C)  Noconsideration has moved from the side of Y.

(D)  Quitting smoking and drinking cannot be a consideration.

Principle: Law never enforces an impossible promise.

Facts: _A‘madeapromiseto_B* todiscover treasure by magic.
(A)  Law will enforce thepromise.

(B)  Lawwill not enforce the promise.

(C)  Lawwillenforcethe promise onlyatthe option of A.

(D)  Lawwillenforcethe promise onlyatthe optionof B.

Principle:When a person who has made a promise to another person to do something does not fulfill his promise,
another person becomes entitled to receive, from the person who did not fulfill his promise,
compensation inthe form of money.

Facts: X made a promise to Y to repair his car engine. Y made the payment for repair. After therepair, Y went
foradriveinthesamecar. Whiledrivingthecar, Y met with an accident due to bursting of the tyre.

Xwillbeentitledtoreceive compensationfromY inthe form of money
Y will beentitledtoreceive compensation from X inthe formof money
X will not be entitled to receive compensation

Y will not be entitled to receive compensation from X

CRCRCESS
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124.

125.

126.

127.

Principle:Whoevertakesawayanymoveablethingfromthelandofanypersonwithoutthat person‘s consent is
said to commit theft.

Facts: During his visit to the home of C, A asks B, the son of C, to accompany A to a forest. Neither A
nor BinformCinthisregard. Baccompanies Atotheforest.

A has committed theft.

A has not committedtheft.

A has committed theft as soon as he entered the home of C.
A has not committed theft till B did not accompany him.

CRCICEES

Principle:Nothing is an offence if it is done in good faith for the purpose of preventing or avoiding greater
harm or damage to person or property.

Facts: Ajumpsintoaswimming pooltosaveaboy from drowning. While pullingthe boy from water A was hit
by C. Aleftthe boy inthe water and attacked C. The boy died in thewater.

A has not committed the offence of killing the boy.
A has committed the offence of killing the boy.
The boy has committed the offence of suicide.
The boy has committed the offence of drowning.

CRCRCIES

Principle:Causing of an effect partly by anact and partly by an omission is an offence.

Facts: A did not provide any food to his daughter D. He also confined D in a room.
Consequently, D died.

(A)  Acommitted the offence of not providing food to D.
(B) A committed the offence of confining D.

(C)  Acommitted the offence of killing D.

(D) A committed nooffence.

Principle:Nothingisanoffencewhichisdoneintheexerciseoftherightofprivate defence. Nothing is an offence
which is done in madness.

Facts: A, under the influence of madness, attemptstokill B. Btosavehis lifekills A.
(A)  Ahas committed the offence of attempt to murder

(B) A has committed an offence of being mad

(C) B has committed anoffence

(D) B has not committed an offence

Principle: Amanisguiltyof notonlyforwhatheactuallydoesbutalsofortheconsequences of his doing.

Facts: Awantedtokill theanimal of B. He saw B standing with his animal and fireda gun shot at the
animal. The gun shot killed B.

A is guilty of killingB.

Ais not guilty of killing B.

B is guilty of standing with the animal.

A did not know that the gun shot will kill B.

CRCICEES



128.  Principle:Mere silence as to facts likely to affect the decision of a person to enter into a contract is not fraud.

Facts: AsellstoB(A‘sdaughterwhoisaminor)ahorsewhich A knowstobeunsound.
A says nothing to B about the unsoundness of the horse.

(A)  Ahas committed fraud

(B) A has committed nofraud

(C)  Therecannot be a contract between a father and daughter

(D)  Thedaughter did notask therefore the father did nottell, hence nofraud

129.  Principle:Whoever attempts to commit the offence of cheating, commits an offence.
Facts: Awithanintention to defraud B, obtains from himanamount of Rs. 500.
(A) A has committed nooffence
(B) A has committed the offence of cheating

(C)  Ahas attempted to commit the offence of cheating

D)

Ahas attempted to commit and has committed the offence of cheating

130. Principle:Whoever by words publishes any imputation concerning any person is said to defame that person.

Facts: During a marriage ceremony, A circulated a pamphlet saying sister of the bride S'is a thief, she has
stolen the shoes of the bridegroom.

(A)  AdefamedS (B) Adidnotdefame S

(C) Adefamedthebridegroom (D) A defamed thebride

131.  Principle: An employer is liable for an injury caused to an employee in the course of the employment.

Facts: _A‘ and _B* were working in a factory as unskilled laborers. A was carrying a basket of stoneson his
head. B was sitting onthe ground. When A crossed B, all of a sudden a stone fell down from the
basket and hit B on his head. Bdied instantaneously.

(A)  The employer will beliable

(B)  The employer will not be liable

(C) A will beliable

(D)  Both employer and A will be liable
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133.

134.

135.

Principle:Damagesthemoneyrecompense,asfarasmoneycando, forthelosssufferedbya person.

Facts: A, an Indian citizen, having a right to vote, was not allowed to cast his vote on the polling booth, by the
returning officer. Name of A was mentioned in the voter*s list. A has also reported at the polling
boothintime. However, thecandidatein whose favor Awould have cast his vote wontheelection. A
filedasuitclaiming damages.

(A)  Awill be entitled to damages

(B)  Awill not be entitled to damages
(©)  Awill be entitled to only nominal damages
(D)  Awill be entitled to exemplary damages

Principle:When a party to a contract has refused to perform, or disabled himself from performing, his
promise in its entirety, the other party shall not put an end to the contract.

Facts: AengagedBonApril12toenterhisserviceonJunel,butonMay11, Awroteto Bthathisservices
wouldnotbeneeded. OnMay22,BjoinedCforemployment.

(A) B cannot put the contract to an end.

(B)  Bcan putthe contract to an end.
(C)  Ccanputhis contract with B to an end.
(D) A must pay damages to B.

Principle:Everyone shall be permitted to take advantage of his own wrong.

Facts: Alegateewas heavily drunk and driving his car at a speed of 100 Km/per hour in acrowded market. All of
asudden his testator came onthe road. There were other people onthe road at that time. The car driven by
legatee hitthe testator and four other persons. All the five persons hit by the car died.

(A)  The legatee can take the benefit under the will
(B)  The legatee cannot take the benefit under the will
(C)  The legatee will bepunished

(D)  The property of the testator will go to his heirs

Principle: Property canbetransferred only bya living persontoanother living person.
Facts: _A‘transfersproperty of whichheistheownerinfavoroftheunbornchildofB.
(A)  Property has been transferred to the unborn child

(B)

(C)  Property has not been transferred to the unborn child
(D)

Property has been transferred to B

Property will be transferred to the unborn child after his birth



136.

137.

138.

139.

Principle: An interest created, dependent upon a condition fails, if the fulfillment of the condition is
impossible.

Facts: A promises to pay Rs. Ten Lakh to B on condition that he shall marry A‘s daughter C. Atthe
date onwhich Agave Rs. Ten Lacto B, C was dead.

(A)  Bfs interest fails

(B)  Bfsinterest fails because of immorality
(C)  Bfsinterest fails because of prohibition by law
(D)  Bfs interest does notfail

Principle: Aconditionmustbecompliedwithafterthehappeningoftheeventtowhichsuch a condition is
attached.

Facts: A promises to pay Rs. 5,000 to B on the condition that he shall marry with the consent of C,DandE.
B marries without theconsent of C, Dand E, but obtains their consent after the marriage.

(A) B has fulfilled thecondition

(B) B has not fulfilled the condition
(C)  The condition isillegal
(D) B must divorce hiswife

Principle: Acondition must be complied inorder to claimthe benefit of an agreement.

Facts: A agrees to transfer a farm to B, if B shall not go to England within three years after the date of the
agreement, his interestinthe farm shall cease. B does not go to England within the term prescribed.

A)  B‘sinterestinthe farm continues

) B‘sinterest in the farm does not continue

C) B hasafundamental right to go to England or not to go to England and hence the condition is illegal
) The agreement between A and B is void

Principle:Existence of all the alleged facts is relevant whether they occurred at the same time and place or at
different times and places.

Facts: A, acitizenof England, isaccused of committing murder of BinIndiabytaking part in a conspiracy
hatched in England.

(A)  Thefactsthat Aaccused of commission of murder and of conspiracy are relevant facts
Onlythe fact that A is accused of committing murder of B is relevant

(B)
(C)  Onlythefactthat Aisaccused of conspiracy hatchedin Englandis relevant
(D)  Acitizen of England cannot be tried in India
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140.  Principle: One who asserts must prove.

Facts: AdesiresaCourttogivejudgmentthat B, Cand D shallbepunishedforacrime which A says B, C
and D have committed.

(A)  Amustprovethat B, Cand D were present at the place of crime
(B) A mustprovethat B, Cand D have committed the crime

(C) B, Cand D must provethat they have not committed the crime
(D)  Police must prove that B, C and D have committed the crime

141.  Principle:Foreign judgment binds the parties and is conclusive unless it is obtained by fraud.
Facts: A obtains judgment from US court by producing fake documents.
(A)  New Suit can be filed in India on the same facts
(B)  Judgment can be enforced in US

(C)  Judgment can be enforced in India

(D)  New suit can not be filed in India on same facts

142.  Principle:Decision of Court is Null and Void, if it is given by court which does not have jurisdiction over
the subject matter.

Facts: Aobtainsdecisionfroma courtwhichdidnot have jurisdictiontodeal withthe subject matter.
(A)  Decision can be enforced because both the parties were present

(B)  Decision cannot be enforced because decision is null and void

(C)  Decision can be enforced because it is given a court

(D)  Decision can beenforced

143.  Principle:Civil Suit can be filed where defendant resides or carries on business or where cause of actionarises.

Facts: _A‘carriesonbusinessinGurgaon, _B‘carriesonBusinessinMumbai. _B*through his agent in Gurgaon

purchases goods in Gurgaon and takes delivery through agent in Gurgaon. Where Civil Suit for
paymentofpricecanbefiledby_A*‘?

(A)  Gurgaon only where cause of action arises

(B) At Mumbai where B carries on Business

(C)  Ateither of the places i.e. Mumbai or Gurgaon
(D)  Anywhere inIndia

144.  Principle:Civil Suit can be filed where defendant resides or carries on business or where cause of actionarises.
Facts: Anagreementissigned and executed in New Delhi between A and B for supply of goods wherein B is to
supply goods to be delivered at New Dehli to client of A. A carries on business at Haryana and B
carries on Business in UP. Civil suit by
_B* for payment of consideration can be filed against _A* at

(A)  Only at New Delhi, where cause of action arises
(B)  Only at Haryana where _A‘ carries on business
(C)  Onlyat UP where _B* carries on business

(D)  AtHaryana or at New Delhi
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146.

147.

Principle:No court can execute the decisions unless it is having territorial jurisdiction over the property or the
person against whom decision is to be executed. The Court which gave the decision can transfer
the matter to the court which has the territorial jurisdiction over the person or property.

Facts: Adecision is given by court at New Delhi on a contractual matter against X ina suit between X and Y.
X is resident of Maharashtra and he has properties in Maharasthra and Gujarat.

(A)  NewDelhicourtcantransfer the proceedings to Courtat Maharashtraonly

(B)  New Delhi court can execute the decision because it had the jurisdiction to decide the matter so it can
execute also
(C)  New Delhi court cantransfer the proceedings to courtat Gujarat only

(D)  NewDelhicourtcantransferthe proceedingstoeither ofthecourtsi.e. Maharasthraor Gujarat

Principle:Nothing is an offence by reason of any harm it may cause to another person, if it is done in good faith
and for the benefit of that person even without that person‘s consent.

Facts: Aisattacked by a Lionand Lion drags himwhile heis crying for help. B, a passer by picks up A‘s gunin
good faithandfiresat Lionwhichinjures A. B has never used the gunbefore.

Bisliablefortheinjurybecause heknewthathecaninjure Aashehasneverusedany gun before

(A)

(B)  Bisnotliable as he has done the act in good faith

(C) Bisliable because he has not taken A‘s consent before firing
(D)

B is liable because he has used A‘s gun without his consent

Principle:Nothing is an offence if it is done under intoxication and the person commiting the offence was
incapableto understand the nature ofthe Act. Intoxicationshould be without knowledge or against the
will of the person.

Facts: A, B and C were having a party in Bar where A pursuaded B and C to take alcoholic drinks. Onthe
persistent pursuation B and C also consumed alcohol along with A. B and C had never consumed
alcohol before. After intoxiation, there was some argument between B and C where C pushed B with
fullforcecausing serious injury toB.

(A) Cisliable

(B)  Cisnot liable because he was intoxicated

(C)  Aisliable because A pursuaded themto consume alcohol whereas they had never consumed alcohol
(D)  Aand C bothare liable
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150.

Principle:Everyone has the right of private defence to defend his body and property by use of reasonable force
unless that person had time to have recourse to protection of public authorities.

Facts: X receives information at 5.00 pm that Y along with few friends is planning to burn his crop at
midnight which is ready to be harvested. He does not inform the village Police Stationwhichwasjust
onekilometeraway. Hegathershisfamily members and directs themto collect some weapons inthe
form of swords and lathis to protect his field/crop. Ataround 11.00 pm Y and his aides attack the crop
and a severe fight ensues wherein Y is seriously injured.

Xis not liable as he was exercising his right of private defence

X isliable

(A)
(B)  Xandhisfamilyarenotliablefortheinjuriescausedastheywereexercisingtheright of private defence
©
(D)  Xand his family is liable as they have not informed the police

Principle: Anyonewhoinduces or attemptsto inducea voter tovoteinaparticular manner on the ground that the
voter will face divine displeasure, shall be guilty of offence of interfering with free exercise of
right to vote.

Facts: During election campaign period one candidate X told the voters that if they do not vote for her, voters
will be cursed because the election candidate is the God*s own childand those who do not vote for her,
they will not beliked by God.

X has committed anoffence

Xhasnotcommittedanoffencebecauseshehasfreedomofspeechandexpression

(A)

(B)  Xhas notcommitted an offence because she only narrated what she felt

©

(D)  Xhasnotcommittedanoffencebecauseshedidnotcompelanyonetovotefor her

Principle:Doing of an act which causes common injury, danger or annoyance to public or which is likely to
cause such injury or annoyance is Public nuisance. A common nuisance is not excused because it
causes some nuisance or advantage.

Facts: _A‘afarmer having large farmlands burns crop residue (stubble) onhis fields after harvesting the crop to
make the field ready for next crop as this is the easy, fast and convenient method of making the field
ready for next crop. His farmlands are adjoining a densely inhabited residential area and people pass
through the smoke while travelling on the road adjoining his farmlands. The smoke caused by fire
also enters the houses in the colony

A has not committed any offence since he does not cause any specific injury to any specific person
Ahas not committed any offence because he does not gain any advantage from persons living in the vicinity
A has committed publicnuisance

Ahas not committed any offence because the alleged acts are done on the fields owned and used by himand
actsare done withoutany intention to cause harm.

CRGRCINS
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Principle: Death caused by rash or negligent act of a person is an offence.

Facts: X was driving his SUV car in a lonely road leading to a forest at 160 km per hour. Suddenly, someone
appears from the forest on the road and in the resultant accident, the car hits the commuter
causing his death.

Xis not guilty of an offence as the accident has occurred on a lonely road

(A)
(B)  Xisnot guilty because there was no intention to kill the deceased
(C)  Xis guilty of an offence death by rash or negligent act

D)

Xis not guilty because he was also injured in the accident

Principle:Whoever causes death by rash or negligent act commits an offence.

Facts: X is having a house on the roadside which is also having a street on the back of the house. He has a
lawn on the back of his house where he has built a toilet. To prevent the intruders from entering his
house, he got the fence charged witha high voltage live electric wire. Z was passing through the street at
the backyard of the house of X and sat down to take rest near the fence. While getting up, his hands
cameincontactwiththefencewhichwasconnectedtohighvoltageelectric wire causing hisdeath.

(A)  Xhasnotcommitted any offence because he has right to prevent trespass
(B)  Xhascommitted an offence of causing death by rashand negligent act

(C)  Xhascommitted no offence because he does not have any enmity with X
(D)

X has committed an offence of Murder

Principle:Killing is not murder, if it is committed in a sudden fight without pre-meditation in a heat of passion
upon a sudden quarrel.

Facts: XandY werebuying liquor froma liquor shop at7 pm. Y abused X and there was quarrelbetweenthem.
XtoldY that hewill notspare himand Y shouted that his house is adjoining the shop only and if X
had the guts, he can come anytime. X went back to his shop which was nearby, procured a knife
and went to Y*s residence at 9 pm and stabbed him to death.

X has committed murder
Xhasnotcommittedanoffence of murdersinceitwascommittedinsuddenfightina heat of passion

X has not committed murder of Y because he had no enimity with Y

CRGECESS

X has committed nooffence
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Principle:Use of criminal force intentionally knowing that it would cause or is likely to cause injury or
annoyancetothe personagainstwhomforce isused, isan offence.

Facts: X, a renowned social worker who had launched a movement for liberation of women, pulls up a
Muslim women‘s veil in public in good faith without her consent causing annoyance toher.

Xisarenownedsocial worker and he has committed no offence because his motive was good

X acted in good faith to liberate her from clutches of tradition and has hence has committed no offence
Xhasdonetheactinpublic and notinsecrecy therefore had not committed any offence

X has committed an offence by use of criminal force

CRCGRCINS

Principle:Inducing any animal to move or to change its motion and thereby intentionally causing fear of injury
orannoyancetoothersbysuchact, isanoffenceof useof criminal force.

Facts: Xincites hisdogtochaseandrunafter hisneighbour Y, toteach Y tostay away fromhim. Theactis
donewithoutneighbour* consentandagainst hiswill

X has committed nooffence

X has committed no offence because no harmis causedto Y

X has committed nooffence because heintentiononlyto putfearinthe mind of Y
X has committed an offence of use of criminal force

CRCRCIE

Principle:A spouse is not permitted to put in evidence in any court, any communication during marriage
betweenthespouseswithouttheconsentofthe personwhomade the communication.

Facts: XwhoisthewifeofY sawherhusband (YY) comingoutoftheneighbour‘shouseat
6.00aminthe morning. Y told his wife X that he has murdered the neighbour and handed over the
jewellery of that neighbour to his wife.

(A)  Xisallowedtoappearasawitness in courtto deposethat her husband hastold her that he committed a
murder

(B)  Xisnot allowed to appear as a witness at all inany court

(C)  Xisnotallowedtoappearasawitnesstodeposewhatwastoldbythehusbandtoher, however, she can
depose what she saw

(D)  Xisanindependent woman and she can do whatever she wants

Principle:Oral evidence mustalways bedirecti.e. of the person who says he sawthe event and hearsay evidence
iS no evidence.

Facts: X was told by Y (whom X trusts) that Z has murdered A

(A)  Statement of X isadmissible

(B)  Statement of X is notadmissible because he has not seen Z murdering A
(C)  Statement of X isadmissible because hetrusts Y and Y never tells a lie
(D)

D) Statementof Xisadmissiblebecause heisarenownedsocialactivistandhasahuge reputation to fight for
the truth
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Principle:Terms of any written contract can be proved by producing the written contract only and oral
evidence is excluded.

Facts: AgivesBreceiptformoneypaidbyB.Oralevidenceisofferedtoprovepayment.

)

A)  Oral evidence to prove payment is allowed

B)  Oralevidence to prove payment is not allowed

—_ o~ o~

)
C) Oralevidence is always allowed to prove all facts
)

D) Oral evidence is generallydisallowed

Principle:Employer is liable for the injury caused to the employee in the course of his employment.

Facts: Xorganizeda party and hired a caterer. During the party, generator set went out of order and he requested
one employee of caterer i.e. Y to bring the mechanic on his vehicle and promised to pay 1000 for the
sametoY.Y met withanaccident while going to fetch the mechanic and he seeks compensation.

(A)  XisliableasY wasworking inthe course of employment offered by X
(B)  Xisnot liableas Y is not his employee

(C)  Xis liable because party was organized by him

(D)  Catereris liable as Y is his employee

Principle:Master is liable for the acts of his servant done in the course of his duties.

Facts: X hired an employee Y in his construction business. Y was the property in-charge who received
construction material and gave receipts for the material received by him. Z claimed payment for
cement supplied to X which was duly received by Y. X denied the payment on the ground that he has
only received half of the material and the balance was misutilized by the employee Y.

(A)  Xis liable for the entire amount

(B)  Xisliableforthepartamountonlyi.e. for paymentofthecost of half of the material
(C)  Xisnot liable for the misconduct/embezzlement of his employee

(D)  Zcanclaimthe balance payment only from Y
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167.

LOGICAL REASONING

Ifin English Alphabet _e* and every alternate letter from _e‘ onwards is written in Capitals, then how will sixth
month from March will be coded

(A) SEPTEmMbER (B) SEptEMbEr
(C) SepTeMber (D) SEPtEmbER

If in a certain code, _Clever; is written as_XOVEVI‘, then _Smart‘ would written as

(A)  HZNGI (B) HNZIG
(C) GHNGI (D) GIHZN
Fill in the blank :

Q4RT, , QRT6, QR7T,Q8RT

(A) QTRY (B) OQR5T
(C) RQ9T (D) TRQ6
Fill in the blank :

257,291, , 365, 405

(A) 313 (B) 322

(C) 327 (D) 343
Manoj walks a distance of 5 meters towards North, then he turns to east and walks a

distance of 10 meters. Then he turns to his rightand covers a distance of 15 meters. He then turnstohis leftandcoversa
distance of 15 meters. Whichdirectionishefacingnow?

(A) North (B) East
(C) West (D) South

Amanintroducesagirlasthedaughter ofthesister of his father. Howthegirlisrelatedto the man
(A)  Daughter (B) Niece
(C) Granddaughter (D) Cousin

Read the following information for questions 167 to 170 and chose the most
appropriate option:

P and Q are good in driving Motor cycle and Jeep. R and P are good in driving Jeep and Lorry.R,Sand Tare
goodindrivingMotor Cycleand Lorry. TandRaregoodindrivingBus and Tempo. S and Q are good in driving
Bus and Jeep.

Who is good in driving motorcycle, lorry and tempo?
(A) P B Q
e T (D) s



168.

169.

170.

171.

Who is good in driving motor Cycle, Jeep and Lorry but not bus?
A R B) S
© P Do) T

Who is good in driving Tempo, Motor Cycle, Lorry but not Jeep?

A) S B T
€ R D) Q
Who is good in driving all the vehicles?

A R B P
€ S O) T

In a bag there are some gold coins. In another bag there are 1/3rd extra gold coins as comparedtofirst bag. If
the difference inthe number of gold coins in firstand second bag is 5, then how many coins are there in the first
bag?

A 7 (B) 9
€ 13 (D) 15

Examine the following numbers and identify the next number:

172. 53,50,45, 38,29,

(A 11 (B) 17
(C) 18 o) 21

173. 20,30,42,56,72,

174.

175.

(A) 82 (B) 90
C) 92 (D) 94

Thewordsinthebottomrowarerelatedinthesamewayasthewordsinthetoprow. Fillin the blank.
Rose, Flower, Plant Flat,

House, .............
(A) City (B) Tent
(C) Building (D) Village

If Ocean: Waves, then Desert :
(A)  Water (B) Sand
(C) Brave (D) Sanddunes
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176. If1x7=8,2x7=16,3x 7 =24, 4 x 7 =32, then what is value of 9 x 7?

177.

178.

179.

180.

181.

182.

(A) 63 (B) 72
(C) 81 (D) 90

Find the odd one out :

Onlookers, Theatre goers, Queue, Spectators

(A)  Onlookers (B) Theatre goers
(C) Queue (D) Spectators

Find the odd one out :

Heart, Lungs, Kidney, Skin,  Liver
(A) Skin (B) Lungs
(C) Heart (D) Kidney

Find the odd-manout:
(A)  http://www.scholar.google.com (B)  http://www.manupatra.com
(C)  http://www.lexisnexis.com (D)  http://www.westlawindia.com

Find the odd one out:

Symphony, Orchestra, Guitar, Mob
(A) Guitar (B) Orchestra
(C) Maob (D)  Symphony

Instructions for Question 181 to Question 185: Read the information given below to
answer the questions.

()  Mohan‘sreadingschedule consists of reading only subject ona given day of the week.
(i)  ThesubjectsarePhysics, Chemistry, Mathematics, Biology, and Social Science.

(i) Monday to Saturday are reading days including one day only for play. Sunday is a complete holiday for
Mohan.

iv)  Mathematics day is neither on the first day nor on the last day but earlier than the Chemistry day.
v)  Biology day is onthe immediate next day of Chemistry day.

(vi)  Physics day is onthe immediate previous day of the play day.

(vii)  Biologydayand Social Science day have a gap of two days between them.

(viii) Social Science day is onthe immediate next day of the play day.

Which of the following day is the play day?
(A)  Monday (B) Tuesday
(C) Wednesday (D) Thursday

Physics day and Biology day have a gap of how many days between them?
(A)  One (B) Two
(C) Three (D) Four


http://www.scholar.google.com/
http://www.manupatra.com/
http://www.lexisnexis.com/
http://www.westlawindia.com/

183. WhichdayisSocial Scienceday?
(A) Monday (B) Tuesday
(C) Wednesday (D) Thursday

184. Which day is Mathematics day?

(A) Monday (B) Tuesday
(C) Wednesday (D)  Thursday
185.  Whichofthefollowingisthecorrect statement?

(A) Biology day is after Chemistry day
(B)  Physics day is onWednesday

(C)  Play day is onMonday
D)

D)  Chemistry day is earlier than Physics day

Instructions for Question 186 to Question 190: Read the information given below to
answer the questions.

A, B, C,D,E,F,GandHwanttohaveadinner onaroundtable and they have worked out the following seating
arrangements.

(@  AwillsitbesideC.
(b)  HwillsitbesideA.
()  CwillsitbesideE.
(d)  FwillsitbesideH.
(&)  EwillsitbesideG.
) DwillsitbesideF.
(@)  GwillsitbesideB.
(h)  BwillsitbesideD.

186. Which of the following is wrong?
(A)  Awill be to the immediate right of C
(B) D will beto the immediate left of B
(C)  Ewill be to the immediate right of A
(D)  Fwill beto the immediate left of D

187.  Which of the following is correct?

(A) B will betothe immediate left of D
(B)  Hwillbetotheimmediaterightof A
(C)  CwillbetotheimmediaterightofF
(D)  Bwill beto the immediate left of H
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188.  Aand F will become neighbours if:

(A)  Bagreestochangehersittingposition
(B)  Cagreestochangehersittingposition
(C)  Gagreestochangehersitting position
(D)  Hagreestochange hersittingposition

189. During sitting:
(A) AwillbedirectlyfacingC (B) BwillbedirectlyfacingC
(C) Awillbedirectlyfacing B (D) BwillbedirectlyfacingD

190. H will be sitting between:
(A) CandB (B) AandF
(C) DandC (D) Eand G

Instructions for Question 191 to Question 193: Choose the set of three statements
where the third statement can be logically derived from the preceding two.

191. Statements:
1 Some students lovereading.
2 Some adults do not love reading.
3 Some students are notadult.
4, Some students areadult.
5 No reading lover is an adult.
6. Somemendonotlovereading. The set
of statements is:
A) 1,34 (B) 1,53
© ) 1,24 (D) 6,24

192. Statements:
1 Allboysneedbooks.
2 Allgirlsneedbooks.
3 Punjabis are girls.
4, Some Punjabis needbook.
5 All boys aregirls.
6. SomeboysarePunjabis. The
set of statements is:
(A) 54,1 (B) 25,3
(C) 6,53 (D) 5,21



193. Statements:
1 All human beings neededucation.

2. All teachers needtraining.

3. Education is provided by the teachers.

4, X is ateacher.

5. X needs training.

6. Studentsare future ofanation. The set

of statements is:

(A) 1,2,5 (B) 2,34
©) 24,5 (D) 4,5,6

Instructions for Question 194 to Question 196:

Each of the following questions has a main statement followed by four statements: 1, 2, 3, 4. Choose the ordered pair
of statements where the first statement implies the second, and the two statements are logically consistent with the
main statement.

194.  Mainstatement: Only if the teaching standard is destroyed, will examination result be poor.
1 Examination result ispoor.
2. Teaching standard is notdestroyed.
3. Examination result is notpoor.
4, Teaching standard is destroyed. The
orderedpair of statementsis:
A) 2,3 B) 24
©c 1,3 (D) 1,2

195. Mainstatement: The computer will not work if operating system fails.

L Operating system fails.

2. Operating system does notfail.

3. The computer does notwork.

4, The computer works.

Theordered pairof statementsis:

A 2,1 B) 23
€ 1,4 (D) 4,2
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196.

197.

198.

199.

200.

Main statement: Either X or Y will take the only computer in the room.
1 X took thecomputer.

2. Y did not take the computer.

3. Xdid nottake the computer.

4, Y tookthecomputer.

Theorderedpairofstatementsis:

A) 3,1 B) 1,3

©) 453 (D) 1,2

_Allmenare mortal and Victoriais awoman and hence Victoria is mortal ‘. This statement is:
(A) LogicallyValid (B) Logically Invalid

(C) LogicallyTrue (D) Logically False

All menare chairs. John Doe is aman. Inlogical language, therefore:
(A)  John Doe is achair

(B)  John Doe is a human being and therefore he cannot be a chair
(C)  Aman cannot be a chair inany case

(D)  Chairs can bemen

Identifythemissingnumber:

land3,4and6,7and9, ....and12

(A) 10 (B) 11
€) 12 (D) 13

Cobra: Snake:: Greyhound:

(A) Eagle (B) Black Mamba
(C) Python (D) Dog
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